F4Cs - 65

DS 1P
(Time: 2%2 Hours)

N.B. 1) All questions are compulsory.
2) Figures to the right indicate marks.

Q.1  Attempt All(Each of 5Marks) e
(a) Multiple choice questions AT

Y. /.

1. The range of correlation coefﬁg«leh lé e
AO0to1 B.-1to1

ii.

If B is subset of A then p(?&/

1ii.

A. the lower b@ﬁnci;“iy \dlfrequ@n
B. the upper\bound@y '
C. the lower t boundary an

iv.

&
4 L
Sy

s If fhe IoWér ﬁn gﬁpp
A RSP e

! mﬂ@g@a}ue in data set.
"'}' the bar will be decided on the basis of

_' ]'11 I'us‘togfz-lm the'WI

ient between two variables X and Y is
! -ct_)rrela thI'l coefficient r =

‘-",Wnte {wo requmltes of
.-:Qeﬁme variance.

Mlte the formula of re
" Define probability.

: ]jefme mutually exclusive events

good measure of central tendency.

gression coefficient of X on Y.
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(d)
(e)

()

Q.4l

o b

Q. P. Code: 12213

o,
e
i e
\?3 L2

Attempt the following (Any THREE)(Each of 5Marks) . i : (15M) 25X

Explain with one example Nominal scale, Ordinal scale ’md 1at10 SC'llL _
& WG
Write a short note on “ v S N

1. Frequency polygon.ii. Stem and leaf plot RISy
Given the followmo data on the marks obtained bv st‘udents m some

’> 3 “::”J
examination. T

22,24,15,25,10,12,14,8, 2, 4, @
4612141617181817141010892221232013“ §
Construct frequency distribution with mdﬁswe type claé‘s mterval

Obtain mean and mode for the fol]ow1r1g daté &0
C.L [10-20 [20-30 [:30-40 _fm-_so;:é‘- 50- 60 { 60-70"
Frequency [2 4 ORI IR | } 3y

Explain the procedure of obtammg Quarﬁle deviation for grouped data. -
Define standard deviation and. chl coéfﬁggmt Q&f vanahon for the

following dataX: 12,1344 15_16 12 14?,"16-13 15 14, 14 12
Attempt the followm&[ﬁny ”I;HREE} (Each\pf SMar,ks) o . -~ (15M)

Define first four raw rnaments ab,out‘\ong _zero and cen‘rral mo ments ofa
distribution.Also sj;ate the' miahqrislup between raw-and “central moments
Explain the conceplof sskewpe'.ss 80 q%stmgmsh betWeen posmve and
Negative skewness i Ay < ‘3 B

With usual no tahgn ul—Z, g !
B>. i3 :

Represent. Rosmve Neg@hve ;md Perfect gora*elahon ﬁsmg scatter plots.
Explain t@e cqncept o,g correldnmn a:nd re resswn ~AIso comment, how
reoreqsmn is d:ﬁerent From correlqlﬁon al :

Y

For the beIOng*ﬁat‘a obiam the ,'*‘regrésstn Iﬁle of the type Y on X
P b SRR TS5, Gl 15 18 ]
S SRS T . 4 3 |
P G
A’ﬂempt i‘he”fo]lbwmg (Any ’THREE)(E’ach of 5Marks) (15M)

- - Define' &eFolLowmg With o one example

IR

L Random EXpenme;@t with one example,

o1 Sa;nple spate and Bvept with one example.

‘A tlcket is. dra /1. from\ga bo,x Con&tanung 30 tickets and a number on itis
observed Obtairi the pro’bablhty that ticket drawn has a number

o’ 30 45 Iiés&ihan 6 <

_ ;,___.Gleatel than 20 - -é«‘»
ifi. Multiple of 5.

(c} & The letter 0{ the word »\EQUATION are arranged randomly. What is the

s

pl obabihty that an ar rangement

Starts “énd ends with vowel.

4 1, r_l-Iave aﬂ vowels together.

“ i State Addition theorem and Bay’s theorem.

o (EI) Y Staté\Addlhﬁn Theorem and Bay’s Theorem.

2\
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Q.P.Code: 12213+ < 0 0

(e) Two dice are thrown simultaneously. Find the probability that the sum
being 6 or same number on both dice. o At (P

2 W AV A
Sy A | ’~\ 3

(f) A hospital has 3 doctors X,Y&Z operating mdependentiy-'”][he probability
that doctor X is available is 0.9 and that for Y is 0.6 and for Z is 0. 7 What is

the probability that at least one doctor is avallable when ne%ded'? _
Q.5 Attempt the following (Any THREE)(Each of SMarlcs) : ‘ : (15M1 PR
(a) Explain the procedure of plotting Bar chart and PI%\Chart P P E O W O
(b) Write two merits and two demerits of I'_he Mode and Cot.,fflcxent of: r'mge > -
(©) Define Kurtosis and explain different types Qf kurtosls, 574 s”;\” SL WSS S

(d) Obtain Spearman’s Rank correlation between performance in Marhs and
Computer Science. The scores are glk{,en be]ow P 7

48‘-. {560 70«‘ 6

Maths 56 65 QL2
Computer Science | 76 | 60 {50 75 ;[ 66c | 87
(e) If the two regression equations are 4v-—5>*< :33 - and 20y = 9x - 107 o

Find:- i Mean ofxandwy ‘il Corr (.16.1101’1 coefficient betvveenxand\)
y. s Sy ool S/ e /"*§‘v<,“ %

”on-defmhve and 8 are
Vhati is the‘_pl’g_babﬂl ty

) Stockiest has 20 items i ina lot Out'of wl'uch ]:2 ar
defective. A customer: seloqts S:uems '.from the 1o
“that out of these three items: S S Iy
* 1. Three Ltéms are non-defechve 5?{5‘
ii. Fwo are non- defechve and one is defe“t't(ve

o e Y i
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